FISEIEE/NFERESETREFTE (FY -
[&f12£9 A128 9:

e AR
BB

Ca—F) AELE

00~12:00 BF> > 7 ILZADER]

BEXATHRERAR -V 2 —

0774 =¥ BB e BEFH e
AM 4MS 5MS 6MS B &z &5t
AR VAP =M FYUTF |RH K HE BEET 1 1l of 1
1ty =7 ME {—& |[(BR E&F #¥m XTT 11 11 of 1
3(EE> 2 =7 AFE &k X8 KL KR RER 1 1l 0o 1
4 EEATIL ) =fE FE BAE BT 11 1| o 1
S|¥F Xy FaE R BE AN ME 1 1l of 1
6|EMHE =7 EH HFL W EEF OBEER BEA 1 2l 3| 1 4
NWhNEY2=7 2 EIk = s WE BT 1 2 1| 4f 31 7
B|W v w1z |Ea EF |LE F— LA #&E 1 1 2l 1l 3
IkAY2=7 BH & il & XEE BAF 2 2l 5| 7
10{7=7% L MAX A FER O R ERE MR 2 2] 4] 6
11|FREY 227 EF EK  E£H EEB 1 1l 3| 4
12|NF<7 A I =K = ARE = BB M2 1 1l 2| 3
BINEFY 27T BE HE  |BH 15 HAR BH<H 2 2l 1] 3
4|EARRY 227 EE OBE O |BE BE RA EH9 1 11 2| 1| 3
15|BTHY 2 =7 BN BK |BA Gk %Il B 1 2l 1] 3
124 30% 8 12 6| 26
(4129 128 12:30~16:00 XF¥ > 7 IILADE]
9574 =Y BEE a—F BFH 5%
PM 4WS 5WS 6WS [zt B33
1{1SUNS 2004 |RE X# |RE Az tH@A #= 11 11 of 1
21 % b =R |FE EE  |FL BE  fEAK F1T 1 1 11 3] ol 3
3| a=7 B e [HN &4 1 1l of 1
MAHBY 2 =7 HEF KB |MHE HE = 2A 1 11 2| of 2
5|NOCKS AT E— |FH BT % {2 2 1 31 0o 3
6|5 17 HE V&AM EEF OBE HA 1 1l 3| 4
TNNES2=7 Br BT BB 75 WE BT 1 1 11 3| 4 7
8| ¥R thE FE— (AN = 1 11 2| 3
Iy a=7r FH KA Zih R XEE BLAF 2 1l 5] 2| 7
10{7=7% L MAX Bl 8K |HO B ERE MR 1 1| 4] 2| 6
1M|FREY2=7 HmA HYT [BF ERK +H EEBB 1 31 1l 4
12(NF <74 =K = ARE = BEE M2 2l 2| 1| 3
BINEFY2=7 HH B Ef HhE 1 11 2| 3
A|EARRY 227 WA B BE BEZ RH FH 1 1l 2 3
15|BTHY 2 =7 BA Wk Il B 1 1l 2| 3
124 29| 13 11 8| 32




